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Questions

The moist air masses that cause winter rains in the north-western region of Indian are part
of;

During the summer monsoon the Himalayas have rains on their:

The international Date Line passes through:

For the production of wheal there should be:

The reason for the necessity of irrigation in India is that:

irrigation is necessary for areas receiving rainfall:

The Prevailing winds blowing from 30°S and 30°N towards the equator are termed as:

Which of the following groups of countries is arranged in descending order of area?

The Savana type of climate is characterized by:

The present day search for fuels alternative to petroleum, is due mainly to:

Answers Choice

A. Trade winds <br>

B. Westerlies <br>

C. Local disturbances <br>
D. Retreating monsoons <br>

A. Southern and western slopes <br>
B. Northern and eastern slopes <br>
C. North and western slopes <br>

D. Southern and eastern slopes <br>

A. Atlantic Ocean <br>
B. Pacific Ocean <br>
C. Indian Ocean <br>
D. Arctic Ocean <br>

A. Cool and wet climate during its
growing period but hot climate during
the ripening period<br>

B. Sufficient heat but very little
rainfall <br>

C. Sufficient heat and heavy rainfall
<br>

D. Hot col climate during the ripening
period <br>

A. There is no rainfall at the lime of
need <br>

B. India corps require much water
<br>

C. Indian farmers are in habit of
watering evaporated<br>

D. India is a hot country so water is
easily evaporated <br>

A. Less than 200 cm <br>
B. Less than 75 cm <br>

C. Less than 125 cm <br>
D. At uncertain times <br>

A. Monsoon winds <br>
B. Anitrade winds <br>
C. Trad winds <br>
D. polar winds <br>

A. Russia,Canada, China, U.S.A<br>
B. Russia U.S.A Canada, China <br>
C. Russia, Canada U.S.A China <br>
D. Russia,China, U.S.A, Canada <br>

A. Humid summers and humid winters
<br>

B. Humid summers and dry winters
<pr>

C. Humid winter and dry summers
<br>

D. Humid throughout the year <br>

A. Iran-larg war <br>

B. Strained relations between Israel
and Middle East countries <br>

C. Highly increased cost of petroleum
<br>

D. Increase in the consumption of
petroleum <br>



